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Spectrum consistent with declination-independent flux?



SD-1500 spectra
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Vertical / inclined consistency
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Vertical spectrum bands
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3-way comparison



North - South (%)

I
N
o

40

N
o

o

Systematic uncertainty

log10 (E/eV)

\

North - South (%)

AJ/O-sta,t ~ 2

18.5

Gsys — 1%

19.0

log10 (E/€V)




Events
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Spectra comparison

103?
102?

101?

0 _ O  North
“o, O South
100
Many events - A
gves %g S A
Chi-square test ~ ©
- =
Osys— 1%
O
o
— T T T T O -D- T
18.5 19.0 19.5 20.0

Few events

- — >

Binomial test
Exact



E3 x ) (eV2km~=2sr-tyr-1)

=

o
w
o

=

o
w
oo

=

o
W
~

North vs. South
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Inclined spectrum
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Summary

o

* Declination bands test
* Coverage from -90° to +45°

* 1% uncorrelated systematics

Spectra consistent with declination uniformity
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Backup



Systematic uncertainty
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Comparing two data
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Chi-square test in one bin

Bin [18.5, 18.6] ki = 15775 ko = 15677
Usys — O O-sys — 1%

—— Spectrum 1

I
|
|
|
<15 ! =
: | :
|
o~ ! <
>10 ! >
:l I :l,
%% | o
|
(Tl 5l V2 nd B N\ o A 5
|

01 -—== e et
8.8 8.9 9.0 9.1 8.8 8.9 9.0 9.1 9.2
J(eV-t km=2gr-tyr-t) le-19 J (eV-1 km~=2 sr-1yr-1) le-19
2 2 2 2 2
O = Ogtqt 0 = Ogtqt + Usys

17



Binomial test in one bin gin19.9 20.0;
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Fisher statistic

o

Combination of all bins
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